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Relação do aço

P6 P7 P8

P9 P10

AÇO
N DIAM

Q
UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 370 100 37000

2 5.0 260 27 7020

3 5.0 44 94 4136

4 5.0 44 24 1056

5 5.0 212 90 19080

CA50 6 10.0 6 75 450

7 10.0 12 368 4416

8 10.0 12 326 3912

9 12.5 80 VAR VAR

10 12.5 74 326 24124

11 12.5 118 377 44486

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

10.0

12.5

5.0

87.8

833.3

683

59.5

883

115.8

PESO TOTAL

CA50

CA60

942.6

115.8

Vol. de concreto total (C-25) = 6.47 m³

Área de forma total = 103.16 m²
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